oI ERH 2021 M1kt =7 oL SEE
A NE
o 01 &t o =2(8)-(A) 0l ar 2 =2:(8)-(A)
2 2 = z = =

SE(A) =2(8) 2o HI& (%) S E(A) 2(8) =1 HI & (%)
1 (meae |Mery  [2asese 10,300,000/ 10,300,000 0 o|ARE  |gezamb Daew 0 0 0 0
2 |gyz  |aw=z Mm ww__w 0 0 0 O|AIRH |z (s EH 0 0 0 0
3 [om2 |omz  |[zwcomz= | 83,701,158 33,656,296 -44,862 (AR |2m=aH) [21oy) 2,200,000 1,350,000/ 850,000 61
4 |mag |2y Mmg_wo_a» 2,500 35,500 33,000) 1,420 |AbHI |2 HME 2 | 2150,000] 1,800,000  -850,000 84
5 |mag  |mew wﬁmuag_wo_ 6.560,000| 4,247,045 -2,312,955 65(M2H  |2=H  |=2a3e=2 100,000 100,000 o| 100
6 [+ |z2y  |ema o| 1.613,123] 1,613,123 O|AFRHI  |22Hl  |RMMZmZ | 5,505,000 5,105,000  -400,000 93
7 ARH |2ad el 100,000{ 100,000 o 100
8 HAZAH (AQH [Aayl 39,500,000| 40,400,000 900,000[ 102
9 AFRHL [ererAreill [Areidl 0 0 0 0
10 mg=  |mg2 |[Nems= 0 0 0 0
1 axe |zxe |zxs 0 0 0 0
. m__Mm_ 2 MHME_ 2 louu) 1,008,658| 996,964 ~11,694 99
&3 50,563,658 49,851,.964|  -711,694| 98.00 2 50,563,658| 49,851,964|  -711,694| 98.00
20213 H1A} F=ZA0fL(2h-F%| oI HERFH




2O E /A 2021 M1kt F=F Moot

of ey
Ol
(8)-(A)
= S (A) =2(p)
+ oA 5,000, 000 5,000,000 Olar5i0l: o prm
=EAg+Y = i 2t Oloos, 670-2, LHE® ZH2l1046-5 (LRHeL:
SPY SoUASY 500,000 500,000 oloneral 311-15 Lxrel: Mz
TIPS 1,500,000 1,500,000 o|mse oietal 315-3 & xrel:
SolARiag 800,000 800,000 O|cHSE oIl 316-12 UXRl: HFE(0I0IS)
DE sNEseY MY 0 0 0
SEENEE 33,701,158 33,656,296 ~44,862
JIEHHIZ0I K42l 2,500 35,500 33,000(z2e® 02 o
I A0l X2 6,560,000 4,247,045 2,312,955
IR 42l 0 1,613, 123 1,613,123
50,563,658 49,851,964 ~711,694

SMA BHF UH1S 670-199, 670-200, 670-201, 670-204

SMBAN BAHF HM1S 670-199, 670-200, 670-201, 670-

HER(UNY=)




oo =7 2021 HM1Xt =3 ME0]| 4N

e 01 o i
@ 8 = =% (A) 22 (8) el =
A=t SEES Jlze ) 0 0 0
A=t 2zay X Ey) 0 0 0
A2 SR &l Hi 2,200,000 1,350,000 0|olALEIS) BlelHl L oiHl
ArSH) 2| A8H Y 243 2,150, 000 1,800, 000 ~350,000 MMMMIE%W@M@%%W& b 2 L0k
N o) zzesz 100,000 100,000 oloAsNEBRE SBEs
AR 29H) BN 5,505,000 5,105,000 ~400,000[BOIM L XISASM/ Hol MAK/ EXAH S
A2t 2 JIErE | 100,000 100,000 0
Th & X A H] Al A& H) 39,500,000 40,400, 000 900,000 [HeI=K ¥ AEEHEH/ JSESANY REG S
AEIHI o) B AbRI b At 0 0 0
a3 a3 NE @B 0 0 0
anE zxE S 0 0 0
olHIHI 2 JIEH  |olEIbl 2 e |olbis) 1,008, 658 996,964 ~11,604
B 50,563,658 49,851,964 -711,694




